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1101 [ X418 GH 15 150 0 150
REEICEE 289 2890 0 2890 10 0 0 0 3456 0 1188
GhH 289 2890 0 2890
1121|545 & 5 50 0 50
1141[54R BmE 17 85 0 85 5 0 0 0 3564 0 2376
S 1 10 0 10 10 0 0 0 0 1944 0
(&) 18 95 0 95
12018 [ED) 189 2835 0 2835
1203[F ¥Ry [EH 2 20 0 20 10 0 0 0 0 2052 0
& 2 20 0 20
1205[[F>NAE [EE 820 328 328 0 0.4 158 0 81 0 0
fahel 360 72 0 72 0.2 0 0 0 97 0 81
GhH 1196 464 328 136
1207| & EE 1200 120 120 0 0.1 23 0 17 0 0 0
RE 95 95 95 0 1 173 0 140 0 0 0
[E)) 1300 240 215 25
1209| B & B 10 30 0 30 3 0 0 0 1836 0 1728
Eh 10 30 0 30
1301 [HF mE 40 80 0 80 2 0 0 0 1026 0 864
=H 1480 444 0 444 0.3 0 0 0 124 0 97
= E 25 13 0 13 05 0 0 0 0 130 0
=5 61 305 0 305 5 0 0 0 2052 0 1620
(&) 1606 842 0 842
1311[FRE X 30 120 0 120 4 0 0 0 0 1728 0
GhH 30 120 0 120
1321 [HR S 130 650 0 650 5 0 0 0 1836 0 1458
= E 40 200 0 200 5 0 0 0 1620 0 1404
=5 30 150 0 150 5 0 0 0 0 1782 0
GhH 200 1000 0 1000
1331 [AFBy  [—a—T—FU| 30 300 0 300 10 0 0 0 0 2268 0
(&) 30 300 0 300
1351[E—<> |55 900 135 0 135 0.15 0 0 0 92 0 86
(&) 900 135 0 135
1353[ Tk =0 90 9 0 9 0.1 0 0 0 270 0 162
(&) 90 9 0 9
1403| e T oL 29 58 0 58 2 0 0 0 1836 0 432
(&) 29 58 0 58
1407|EHmF GH 150 15 0 15
1501 [HE =) 16 80 0 80 5 0 0 0 1296 0 1080
Eh 16 80 0 80
1521 |83 ZiE 3 30 0 30 10 0 0 0 0 5508 0
Eh 3 30 0 30
1541 | E& dLiEE 200 2000 0 2000 10 0 0 0 0 1350 0
dLiEE 405 8100 0 8100 20 0 0 0 2592 0 1771
(&) 606 10120 0 10120
1603[tz)L)—  |B%fE 8 80 0 80 10 0 0 0 4320 0 4212
(&) 8 80 0 80
1609[Javay  [&J 60 360 0 360 6 0 0 0 3024 0 2592
(&) 60 360 0 360
1611[LAR (&) 5 50 0 50
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S 135 405 0 405 3 0 0 0 1728 0 1242
GhH 357 460 0 460
1705| L= fa] 630 50 0 50 0.08 0 0 0 0 108 0
(&) 784 78 0 78
1803 | E mE 150 15 0 15 0.1 0 0 0 0 125 0
=) 120 24 0 24 0.2 0 0 0 239 0 66
& 720 84 0 84
1807 |#B f=554 250 25 0 25 0.1 0 0 0 0 42 0
EH 780 156 0 156 0.2 0 0 0 81 0 65
f=554 150 45 0 45 0.3 0 0 0 0 89 0
& 1180 226 0 226
1809[L&L EH 1400 140 0 140 0.1 0 0 0 0 32 0
EF 1650 330 0 330 0.2 0 0 0 89 0 80
GbH 3050 470 0 470
* S EEET * 24604 39269 1086 38183
221|2+ A 9 90 0 90 10 0 0 0 5292 0 5076
Eh 9 90 0 90
2811 | & fa 500 125 0 125 0.25 0 0 0 378 0 346
S 528 132 0 132 0.25 0 0 0 324 0 173
(&) 1028 257 0 257
* S EEET * 2074 694 0 694




